1. 9kN
2. 5,7·1013C (MZ=5,983·1024kg, MM=7,374·1022kg)
3. 38(C

4. 10-6N

5. 8,99·10-5N

6. 4·10-4C

7. 359,5N

8. 2

9. 2,2

10. 35,5MN

11. 8,9cm

12. 9,5cm; 4
13. 
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=2,3·1039
14. 43N; 1,7N

15. 90V·m-1
16. 1,602·10-12N

17. 2(C

18. 2,8MV·m-1; 0,28MV

19. 2J

20. 10kJ
21. 180V

22. 30V

23. 6km·s-1
24. 899V

25. 1kV·m-1
26. 1MV·m-1;1,1(C

27. 7cm; (aby ste nemuseli riešiť kvadratickú rovnicu, vyjadrite pomer nábojov a odmocnite)
28. 447m·s-1
29. 2·1012 m·s-1; 1,82·10-16J; 1,14kV

30. 9,4km·s-1; 2,2·1015m·s-1
31. 3,5·1012m·s-1; 0,18mm
32. 5,7·10-12V
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